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Questions

United States of America's installed electricity generation capacity is:

Which country ranks second in electricity generation in the world ?

China's rank in electricity production in the world is:

Which country produces largest amount of electricity in the world ?

New Zealand fulfils, how much its electricity needs by hydro-electricity ?

Which country, fulfills its 99 percent hydro-electricity needs with the hyro-electricity:

Which continent is smallest producer of hydro-electricity ?

Which continent is largest produce of hydro-power in the world ?

World's 13.2 percent hydro-power is generated in the continent of:

In the continent of North America, potential of hydro-power generation is:

In the continent of Australia, hydro-power generation potential is:

World's about one fourth hydro-electricity is produced in the continent of:

Continent of Africa's hydro-power potential is world's:

Answers Choice

. 1,110 billion Kw

. 10,000billion Kw

. 5,000billion Kw

. 675.104billion Kw

Russian Federation
Japan

United Kingdom
USA

First
Fifth
Second
Tenth

China

. United States of America
Japan

Russian Federation

50 percent
25percent
75percent
. 80percent

Norway
Canada
Australia

. New Zealand

Africa

. Australia

. South America
. Asia

. Europe

. North America
. Africa

. Australia
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. Europe
B. Australia
C. Africa

D. Asia

A. 10% of total hydro-power
generation

B. 13.2%of total hydro-power
generation

C. 25%of total hydro-power
generation

D. 50%of total hydro-power
generation

A. Very limited

B. Very huge

C. Very very huge
D. Nominal

A. Asia

B. Europe

C. Australia
D. Antarctica

A. 25% hydro-power generation
potential

B. 41.4%hydro-power generation
potential

C. Very limitedhydro-power
generation potential

D. Very largehydro-power generation
potential

A. Very limited
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For hydro-power generation, equatorial region's potential is:

For hydro-electricity generation:

B. uniimited

D. Unlimited

B. Physical factors suitability is not
necessary

C. Physical factors do not affect

D. Physical factors affect is nominal



